4.6 Solving Logarithmic Equations
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REVIEW: Evaluate.

a) log3(é) =% = 2




Domain of Logarithmic Functions

y=log, (f(*))
Domain: -‘p(?a = D
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ex: State the domain in set notation. ( );)
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Solving Logarithmic Equations

Three Types:
1.1 Logarithm

ex: 2-log,(x+1)=4

2. More than 1 Logarithm

ex: log,(x* =3)=log,2+log, x

3. Quadratic Form

When solving type 1 or 2, rewrite the equation with ONE
TERM on each side of the equation.



ex: Solve.




ex: Solve.

b) log,, (Jc2 —4) = log,, (3x)
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ex: Solve.

o log,, (4x-5)-log; (2x-1)=0
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ex: Solve.

d) log,(4x-5)-log,(2x-1)=3
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ex: Solve.

e) logl8-log3x =log2
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ex: Solve.
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ex: Solve.
9) 2logx=1log2+log8
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ex: Solve.



ex: Solve. \)ﬂﬁe‘
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ex: Solve.
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ex: Solve.

0 27" logs(x - 3)’ l9rlog5(x 3)= O
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